ﬁ @ % é ! Expansion polinomial

Nombre: Fecha: Puntuacion:
(5x— 3)(x* = 3x— 2)— (4x — 3)(3x + 4) (2x+ 1)(3x + 2)(4x— 2)
(4x + 3)(4x + 6)(x — 3) (4> — 5x+3)(5x +3)— 2x +2
(x— 1)2x+5)(5x— 5) (x— 1)(dx = 5)(x— 4)
(4x° — 4x—4)(x — 2) — 2 x 3x + 3 3x+ (1 +6x)(2x + 3)(3x +2)
(5x— 3)(x + 6)(6x — 1) (6x° + 4x+2)(x— 6)— 1 x 6x— 6
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ﬁ @ % é g Expansion polinomial

Nombre: Fecha: Puntuacion:
(5x— 3)(x = 3x— 2)— (4x — 3)(3x + 4) (2x + 1)(3x + 2)(4x — 2)
5¢ — 30x% — 8x + 18 24x° + 16x% — 6x — 4
(4x + 3)(4x + 6)(x — 3) (4% — 5x+3)(5x +3) — 2x +2
16x° — 12x% — 90x — 54 20x° — 13x% — 2x + 11
(x— D2x+5)(5x—5) x—DEx—5)x—4)
10x° + 5x° — 40x + 25 4> — 25x + 41x — 20
(4x2—4x—4)(x—2)—2><3x+3 3x+ (1+6x)(2x+ 3)(3x+2)
A — 1202 = 2x + 11 36x° + 84x” + 52x+ 6
(5x — 3)(x + 6)(6x— 1) (6% + 4x+2)(x — 6)— 1 x 6x— 6
30x° + 157x — 135x + 18 6> — 320 — 28x— 18
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